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IMPORTANT INSTRUCTIONS FOR THE CANDIDATES (KINDLY READ THE INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER)

1. Attempt all the questions. Every question has equal marks viz. 2.

2. Before answering, kindly check that this booklet has total (1-16) pages & OMR Answer sheet consists of three copies. Within first five minutes,
candidates are advised to ensure that all pages of your test booklet & OMR/Answer Sheet are properly printed and test booklet is not damaged in
any manner. In case of any discrepancy the candidate should immediately report the matter to the invigilator for replacement of test booklet &
OMR/Answer Sheet. No claim in this regard will be entertained after five minutes of start of examination.

3. Do not forget to write your roll number on the top of this question booklet & OMR/Answer Sheet.

4. Do not tear or fold any page of the question booklet and OMR/Answer Sheet.

5. Candidate must bring legibly printed Admit Card with recent coloured photo pasted on it at mark B duly attested by Gazetted Officer and one
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allowed to enter in the Examination Centre.

6.  Candidates should fill the correct name, Roll No. & Q. booklet No. on the OMR Answer Sheet. If the space for the Q. Booklet No. is |eft blank or
more than one Q. Booklet No. is indicated therein and non-filling of name and roll no. as per instruction, it will be deemed to be an incorrect Q.
Booklet No. & Answer Sheet will not be evaluated. The candidate himself/herself will be solely responsible for all the consequences arising out of

.any error or omission in writing the Q. Booklet No. Candidate shall put his/her LTI (Male) and RTI (Female) on attendance sheet, on the
OMR/Answer Sheet and on the Biometric Machine along with signature.

7. Candidate should put his/her signature and thumb impression on the Admit Card at two places in the presence of Invigilator in the Examination Hall.

8. Candidates are warned not to fold or make any stray marks on the OMR Answer Sheet. Use of Eraser, Nail, Blade, White Fluid/Whitener etc., to
smudge, scratch or damage in any manner on the OMR Sheet during Examination is strictly prohibited. If doing so, their Answer Sheet shall be
cancelled and shall not be evaluated.

9. Candidates are warned not to carry handkerchief, any mobile phone, any type of watch, belt, wear ornaments like ring, chain, earring etc., electronic
or communication device, Pen, Pencil, Eraser, Sharpner and correcting Fluid in the examination centre. If any candidate is found possessing any
such item, he/she will not be allowed to enter in the examination centre. Candidate found possessing mobile phone and any other aiding material
as mentioned above in the examination room will be treated a serious violation and it will amount to cancellation of the candidature and debarring
him/her from future examination.

10. The written examination will be supervised by doing frisking before allowing entry into Examination Centre, using CCTV Cameras, Biometric
Attendance process by capturing the Biometric thumb impression and Photograph of the candidates during Examination, Videography and
Jammers etc. shall be used in the Examination Hall/Examination Centre to stop copying and impersonation etc.

11. Candidate's request to change the examination centre and seat in the Examination Hall shall not be entertained.

12. The scanned photograph of the candidate on his/her Admit Card or attendance sheet will be tallied with the candidate appearing in the examination
by the invigilator. In the event of any discrepancy in the identification and verification of the candidate and photographs, the candidate shall not be
allowed to sit in the examination and be liable for criminal prosecution.

13. The OMR answer sheet consists of three copies, the original copy, the commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR sheets separately. Candidate must handover the OMR Sheet without separating the three
copies to the invigilator at the end of examination. Invigilator will hand over the candidate’s copy after separating it. The candidates are allowed to
take away this Test Booklet with them.

14. Each question has four alternative answers of which only one is correct. For each question, darken only one circle, as the correct answer on the
OMR answer sheet with only Blue/Black Ball Pen provided by the Commission. Pencil should not be used for darkening the circle.

15. No candidate shall be allowed to go to the toilet/washroom during first and last thirty minutes of the examination.

16. No candidate will be allowed to leave the OMR sheet blank. If any OMR sheet is found blank, it shall be crossed by the invigilator with his/her
signature and mentioning "Cancelled" on it.

17. Your answer sheet will be evaluated through electronic scanning process. Incomplete or incorrect entries may render your answer sheet invalid.

18. Carefully fill in all the necessary particulars on the answer sheet. Change of answer sheet is not permitted.

19. While darkening the appropriate bubble(s) in the boxes darken the chosen bubble(s) fully as given below. If you darken more than one circle, your
answer will be treated as wrong and such answer shall not be evaluated.

CORRECT METHOD / 301 77eR WRONG METHODS / 757 i
0] 16J0)] OFEE AREE® O8O OO

20. If a candidate does not comply with the instructions as mentioned above or creates any kind of indiscipline, the Commission shall take action as per
instructions and in addition can also debar the candidate from appearing in the Examination, to be held in future and can also file criminal
proceedings.
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_ Which is the Indian state with longest surfaced | 1.

road, as per 2011 survey?
(A) Andhra Pradesh (B) Maharashtra

(€) Tamil Nadu (D) Uttar Pradesh

Questionld : 1

The signs marked in this rectangle (in blue |2

colour) are..

(A) Mandatory (B) Cautionary

(€) Informatory (D) All of these

Question Id : 2

Who is responsible for ensuring that the vehicle | 3.

is not overloaded?
(A) The passengers.

(B) The mechanic of the vehicle.
(€) The driver of the vehicle
(D) All of these

Questionld : 3

Zebra lines are meant for 4.

(A) stopping vehicle.
(B) pedestrians crossing
(C) for giving preference to vehicle

(D) None of these

Question Id : 4

The number of passengers permitted to be | 5.

taken in private vehicle is recorded in the
(A) Registration Certificate

(B) Tax Token

(C) Permit (D) None of these

Questionld: 5

Where is the headquarter of the Indira Gandhi | 6.

National Forest Academy (IGNFA) ?
(A) Bengaluru (B) Jaipur

(C) Dehradun (D) Udaipur

QuestionId : 6

ASE0T 2011 AR Wew Tl el AeD

e R T B |l 82
(A) 3y U<el (B) HERTE
(©) qffrerTrg (D) IR U

QuestionId : 1

ga'sqma(t?réW)ﬁeﬂ'ﬁﬁaf%lﬁ%

(A) arfeard (B) {udd
(©) FETHS (D) 3 |
g afquiRa (STaRARS) el § B

qRiRad T & g B STRTEA 52
() it (B) aree d1 HBTD

(€) areq @ arefd  (P) T |

Question Id: 3

¥ e Suant §

(A) e JF & Y

(B) et |ed UR HRA B Y
(©) e B gIgeT 3 & Y
(D) T | BIg &l

Froft arest § @ WY ST arel JAd ATt
& dw sy affied ekl €

(A) R aféfhde

(8) T T
(© wfe (D) g1 & BIg Rl
shmy il T aF SHIEA BT g@T@FJ
FEl B2

(A) IS
(€ eI

(B) STIYR
(D) ISR

Question Id : 6
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10.

1.

12.

13.

Which Indian sports person has been appointed
as the WHO Goodwill Ambassador for physical
activity in the South East Asia Region (SEAR) ?
(A) Mary Com (B) Milkha Singh

(€) Pullela Gopichand (P) Vijender Singh

Questionld : 7

Who has sworn in as our Vice- President
recently ?

(A) Mr. Venkaiah Naidu (B) Prof. Hamid Ansari

() Mamta Banerjee (D) Amit Shah

Question ld : 8
Which state government has launched “Namo
Yuva Rojgar Kendra” for unemployed youth ?
(A) Tamilnadu (B) Maharashtra
(€) Gujarat (D) Rajasthan

Question Id : 9

What is the name of World’s oldest man who
died recently ?
(A) Francisco Nunez Olivera
(B) Yisrael Kristal

(C) Toichi Sasaki (D) Masazou Noinaka

Question Id : 10

Which Indian city will become the first city to
provide a helicopter taxi service ?
(A) Mumbai (B) Bengaluru

(€) Chennai (D) Goa

Question Id : 11

Name the most learned scholar of Taxila who
wrote the grammar of the Sanskrit language.
(A) Ambhi (8) Valmiki

(€) vVarahmihir (D) Panini
Question Id : 12

Which is the home of the Asiatic lion?
(A) Corbett National Park

(B) Kanha National Park
() Dudhwa National Park
(D) Gir National Park

Question ld : 13

10.

A

12.

13.

T RAE Raerst, <@ %i_qqﬁm &
(SEAR) # wriiRe TRIRR & fow WHO
'@?ﬁﬂﬁ@%wﬁﬁr@aﬂﬁmwmﬁ

(A) R BH (8) forewr g

(€) etenm MRS (D) e e

o & R e % A e
919 Tl1?

(A) £ ddan g
(C) woeT ol

(B) Y. TIfiE SFARI
(D) arfad wmE

Questionld : 8

R TS0 TRER N SRR At & fo
N T AR s Y [hAT 82

(A) Tfferrg (B) HERTS

(C) ORI (D) _TSTRIT

e @ e e % w98 @t @
82

YR ssa iU SECIRER

(B) TERTEH foped
(€ efgat e (D) wTATSHT ISR

Question Id : 10

T uREy wER efderer cod Jan
et B dTel Ugell WER B 2

(A) Ha$ (B) o

© a=is (D) e

qefdren % oa waite fagm @fe w1 T
STST R Wpa el HT @GR ferl
(A) 3t (B) greHifeh

(€ wreffER (D) arforfs

Question Id : 12

oS fiE) &1 'Y B AT 82
(A) @ide I I

(B) el I FETH
(©) goaT KT FETH
(D) fiR I ST

Question Id : 13
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14,

15.

16.

17.

18.

20.

21,

Where does the river Yamuna join the Ganga ?
(A) Haridwar (B) Allahabad

(C) Agra (D) Meerut

: Question Id : 14
On which day does the Indian financial year
begin ?
(A) January 1 (B) April 1
(C) The next day after Diwali

(D) July 1
QuestionId : 15

How many lions are visible on our National
Emblem?
(A) Two

(C) Four

(B) Three
(D) One

Question Id : 16
Which is the highest Himalayan peak in the
Indian territory?
(A) Mount Everest

(€) Nanga Parbat

(B) Kanchenjunga
(D) Nanda Devi

Question Id : 17

Which of the following is the large blood vessel
that carries blood away from Heart ?
(A) Vein (B) Capillary

(C) Artery (D) Nerve

Questionld: 18

19. Who became the first black President of South

Africain 19947
(A) Desmond Tutu

(€) Robert Mugabe

(8) Milton Obote
(D) Nelson Mandela

QuestionId: 19
What is the most important crop of the
temperate grasslands?
(A) Dates

(C) Cereals

(B) Citrus fruit

(D) Sugar cane
Question Id : 20

What is the duration of a day at the equator
approximately?
(A) 24 hr

(C) 14 hr

(B) 12 hr
(D) 16 hr

Question Id : 21

14.

15.

16.

1.

18.

19.

20.

21.

Wﬁﬂmﬁﬁiﬁﬁﬁﬁ?ﬁ—— % |
(A) BRgR (B) gTEETE
(€) ITRI (D) o

TR fref ad e fam R g 22
(A) 1 SHaRT (B) 1 amiel

(€) Srarel e mTen &

(D) 1 FeIrg

e e e TR gey RiE feed
(A) =7 : (B)

(@ TR (D) T®H

Question Id : 16

TRE & ¥ fwem @ |ed A el
P A B2

(A) HST TRTE (B) erTore

(€) = udd (D) &7 &dr
et & @ @ @ @@ e R
oftR BT ged ¥ R A Sl 82

(A) BRT (B) HRepT

(€ gw=t (D) T3

Questionid: 18
W 1994 H MO SWIGT BT AU 37edd
ey HIF §H 1 7

(A) 3wE T (8) foree WIS
(Q) S e (D) S HSA

Question Id: 19
ST TR B Aed wewqyl HEe al
&7
(A) TR (B) #ig e
(€) 31Tt (D) =TT

Question Id : 20

e | Ve T B Jrafy T 0

287
(A) 24 T (B) 12 ©C
(€©) 14 T (D) 16 ©T

Question Id : 21
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0 e N L | SR .
22 Which of the following planets has no satellites? | 22 refoReaa § 9 pa U8 @

23.

24,

25.

26.

27.

28.

29.

(B) Neptune

(D) Venus

(A) Jupiter

(C) Uranus

Question Id : 22

Where on the Earth is the greatest mass of ice
found?
(A) Siberia

(C) Antarctica

(B) Greenland

(D) Iceland

Question Id : 23
Which UN agency has its headquarters in Paris?
(A) UNICEF (B) ILO
(C) UNESCO (D) FAO

Question Id : 24

What fraction of air is oxygen?
(A) 1/5 (B) 2/5
(€) 3/4 (D) 4/5
Question Id : 25
Which element is common to all acids?
(A) Hydrogen (B) Oxygen

(C) Sulphur (D) Chlorine

Question Id : 26
With which of the following games is the Davis
Cup associated?
(A) Volleyball

(€) Cricket

(B) Badminton

(D) Tennis
Question Id : 27

Name the Indian-born British author who wrote
'The Jungle Book' and 'Kim'.
(A) Pearl Buck (B) Aldous Huxley

(€) Rudyard Kipling (D) H.G. Wells

Question Id : 28

Who played the role of cricketer M.S Dhoni in
the film named “M.S.Dhoni, The Untold Story”?

(A) Ranvir Singh

(B) Sushant Singh Rajput
(©) Aayushman Khurana
(D) Amir khan

Question Id : 29

23.

24.

25.

26.

27.

28.

29.

27
(A) gEfa (B) THUT
(©) I (D) gh

Question Id : 22
qa?ﬁq‘\faﬁ?av‘(vaﬁﬁ—cﬁa—oaﬂmaﬁw
STl 87

(A) grgeaRan (B) Mere

(€) sfeTdhicd (D) IgHCiS
fope wgad WS ROl BT A oRer #
&

(A) FfR® (B) 3TTS. T3,
(©) P! (D) U T3

qry 1 fea W BRI 82

(A) 1/5 (B) 2/5

(€) 3/4 (D) 4/5

A1 @1 gl enel % oY wEE 27
(A) grggIo™ (B) affeRfToT

(€ T (D) FARA

Question Id : 26

e & @ fpa wa @ sfaw @O

Rr 27
(A) dfeteel (B) dJsffeH
(€ fopae (D) <

R § o= ow fafew od BT M SAIRY
R & S ge AR R forl

(A) gl g% (B) Tesw AT

(€ weare fpufem (D) TALSl. dow

Question Id : 28

T, O T RIS ER” THE hed

5 Fpbex wauw. o B g fee
?

(A) ok RbiE (B) i ¥ IoTgd

(O omsy wrEn (D) 3R =

Question Id : 29
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30. The 2017 “World Mosquito Day” is observed on
which date?

(A) August 2z0% (B) August 2274

(C) August 18%™ (D) August 11%

Question Id : 30

31. Choose the odd one from the following :
(A) Lion (B) Whale

(€) Octopus (D) Crocodile
Question Id : 31

32. Rain : Water :: Volcano : ?

(A) Destruction (B) Japan
(C) Lava (D) Heat
Question Id : 32
33. Complete the series :
ABZ, BCY, CDX, DEW, ?
(A) FEW (B) EFV
(C) EFG (D) FEV
Question Id : 33
34. In a queue, A is standing at 7™ position if we

count from left and at  10*" position if we count

from right. How many students are there in

queue ?
(A) 15 (B) 17
(€) 16 (D) 14

Question Id : 34
35. A's weight is twice than B's weight.
B’s weight is 4.5 times the weight of C.
C's weight is half the weight of D.
D’s weight is half the weight of E.
Who has the highest weight among all the 5?

(A) A (8) B
€ C (D) D
Question Id : 35
36. ANOTHER = 7309521, THORN =7
(A) 95103 (B) 95313
(€) 95013 (D) 95113

Question Id : 36

30.

31.

32.

33.

34.

35.

36.

0017 Teg wifkper & fow & waman e
(A) 20 T (B) 22 3
(€) 18 3IR< (D) 11 3T

Question Id : 30

frefaeg & ¥ Rww @1 989 T

(A) Riz (B) =

(€) afFeId (D) TR

giRer : Ul STl ¢ ?

(A) faTeT (B) mar=

(©) orar (D) Tt

grofy goi BT

ABZ, BCY, CDX, DEW, ?

(A) FEW (B) EFV

© EFG (D) FEV

v AR I g9 Wi R |/ AR ar A

AT e W E R g sk @ fF ar 0d
I T] &, ) AR § feaw et € 2

(A) 15 (B) 17

©) 16 (D) 14

A FT TS B W G T

B @ a5 C & 4.5 A1 ¢ |

C &1 g9 D & 3mT © |

D @1 oo E ¥ el ¥ |

T T SRl A et ao qed SATET €7
(A A (B) B

© C ®) D

Question Id : 35

ANOTHER = 7309521, THORN = 7
(A) 95103 (B) 95313

(€) 95013 (D) 95113

Cuestion Id : 36

Page: 6




3.

38.

39.

40.

41.

42.

If we arrange all the words (given in the option)
alphabetically, which word would be last in the
arrangement ?

(A) Elegant (B). Enduin

(€) Enforce (D) Eligibility

Question Id : 37
ASTN : ZTSO :: MSUB : ?
(A) LRRC (B) LTTA

(€) NTVC (D) LTTC

Question Id : 38
Choose the odd one out :
(A) July (B) May

(€) March (D) April
Question Id : 39

Choose the option, which represents / covers
other 3 options commonly.
(A) Gujarat (B) States .

(€) Rajasthan (D) Punjab
Question Id : 40

To fill a tank, 25 buckets of water is required.
How many buckets of water will be required to
fill the same tank if the capacity of the bucket is
reduced to two-fifth of its present?

(A) 10 (B) 35

(€) 62.5 (D) None of these

Question Id : 41

In a regular week, there are 5 working days and
for each day, the working hours are 8. A man
gets ¥ 2.40 per hour for regular work and X 3.20
per hour for overtime. If he earns¥ 432 in 4
weeks, then how many hours does he work for?
(A) 160 (B) 175

(€) 180 (D) 195

Question Id : 42

37.

38.

39.

40.

41.

42.

I & Reer ¥ Ry ToEd Y= B
Wmﬁ%aﬁwmﬁsﬁw&m
FF Gl IR ?

(A) Elegant (B) Enduin

(@) Enforce (D) Eligibility

ASTN @ ZTSO 1 MSUB : ?

(A) LRRC (B) LTTA

(© NTVC (®) LTTC

fyq &1 T BT |

(A) TS (8) =S

(© =\ (D) Qe

S Reer TER 3 e B AR W

o HRal § SAdl add B |

(A) T[oRT (B) TS
(C) ToTERIT= (D) YSITd
TH TPH Bl Y & AT 25 greet UEl Bl
W%laﬁ'a@iaﬁmaﬁwﬁ@

zlswaﬂé’[wqa\raﬁéﬁmﬁa‘dﬁq
T e MR o i S oo | A

(A) 10 (B) 35

© 625

(D) 37 & UH | &l |

vr frafe wwE § 5 oW » T B ©
Ak R 8 ®W & TS B & | UH SneHl
o Praftg @™ @1 wi #C ¥ 2.40 UTW
axa ¥ ok 7 3.20 Ufy Hel SfAReErEH @I
T wRa] £ | Ay 9% 4 AWE W T 432
qmwn%,aﬁa%féﬁaﬁﬁéwaﬁﬂ%?
(A) 160 (B) 175

(€) 180 (D) 195

Question Id : 42
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43.

44.

45,

46.

47.

48.

A man rows to a place 48 km distant and come
back in 14 hours. He finds that he can row 4 km
with the stream in the same time as 3 km
against the stream. The rate of the stream is:

(A) 1 km/hr (8) 1.5 km/hr

(€) 2 km/hr (D) 2.5 km/hr

Question Id : 43

3889 + 12.952 - ? = 3854.002
(A) 47.095 (8) 47.752
(C) 47.932 (D) 47.95

Question Id : 44
Which of the following fractions is greater than

3 5
Zand less than =7
4 6

(A) (B)

(©) (D)

10

e =

Question Id : 45

The least number which should be added to
2497 so that the sum is exactly divisible by 5, 6,
4 and 3 is:
(A) 3

(€) 23

(B) 13
(D) 33

Question Id : 46

The greatest number which on dividing 1657
and 2037 leaves remainders 6 and 5 respectively
is:

(A) 123
(€) 235

(B) 127
(D) 305

Question Id : 47

The sum of the present ages of a father and his
son is 60 years. Six years ago, father's age was
five times the age of the son. After 6 years,
son's age will be:
(A) 12 years

(C) 18 years

(B) 14 years
(D) 20 years

Question Id : 48

43.

44.

45.

46.

47.

48.

s IR S

FIEAT & AR g § aow o ¥ 1S
amzﬁm%%agmﬁwazxﬁmﬁw%
@W%ﬁ{ﬁm'ﬁﬂm$ﬁ5@3ﬁv‘ﬁf
fﬁnﬁr@:ﬁmﬁmwmélwﬂaﬁ
nfy @ e | BN ?

(A) 1 feeider (8) 1.5 famHI/EeT

(©) 2 e (D) 2.5 feHHyEeT

Question Id : 43

3889 + 12.952 - ? = 3854.002

(A) 47.095 (B) 47.752
(C) 47.932 (D) 47.95
PrfoReg § @ @9 @ P 2 @ s
4
MR 2 J BT ¥ ?
(w1 | 2
2 3’
© ¢ o 9
5 10
P A W T 2497 W WS § S
A 5. 6, 4 AR 3 ¥ ol T @ WS
?
(A) 3 (B) 13
(€ 23 (D) 33

Question Id : 46

W Tmeaw 9 1657 R 2037 G
T @Y R hHE 6 3k 5 Ay N ¥ ?
(A) 123 (B) 127
(€) 235 (D) 305

Question Id : 47

Wﬁmeﬁmmééaﬁaﬁqmwaﬂuw
60 IS ¥ | BE Tl UBA far @1 $¥ IS @
39 @ urg T A | BE @ 91§ 9 DT S
g7 BN ?
(A) 12 Tt

(C) 18 wTA

(B) 14 49ATA
(D) 20 9Tl

Question Id : 48
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49.

50.

5.

52.

58.

54,

55.

56.

In a mixture of 60 litres, the ratio of milk and
water is 2 : 1. If this ratio is to be 1: 2, then the
quantity of water to be further added is:

(A) 20 litres (B) 30 litres

(C) 40 litres (D) 60 litres

Question Id : 49

The product of two numbers is 9375 and the
quotient, when the larger one is divided by the
smaller, is 15. The sum of the numbers is:

(A) 380 (B) 395

(€) 400 (D) 425

Question Id : 50

The planet which is easily visible from the Earth
is :

(A) Mercury (B) Venus
(C) Mars (D) Jupiter
Question Id : 51
The Sunis a
(A) Planet (B) Asteroid
(C) Star (D) Meteor

Question Id : 52
Which are the primary colours?
(A) White, Black, Blue (B} Red, Yellow, Blue

(C) Red, Orange, Blue (P) Red, Green, Blue

Question Id : 53
Deficiency of
and poor growth.
(A) Zinc

(C) Copper

causes loss of appetite

(B) lodine

(D) Iron

Question Id : 54
Deficiency of Vitamin-A causes
(A) Night Blindness (8) Beri-Beri
(C) Scurvy (D) Rickets

Question Id : 55

The gas, commonly known as “laughing gas”, is
(A) Carbon dioxide (B) Sulfur dioxide
(C) Nitrous oxide (D) Sodium oxide

Question Id : 56

49.

50.

51,

52.

53.

54.

55.

56.

TF 60 forex e # gy SiR el B ST
2:1%1@%@%1:2%%,3%
fopeT U T g 2

(m) 20 forex (8) 30 forex

(€©) 40 forex (D) 60 ferex

Question Id : 49

& el b1 PEG 9375 AR HITR,
g g9 e B | fwiE B S g,
15 & | <degiel @ AN R BN 2

(A) 380 (B) 395

(©) 400 (D) 425

Question Id : 50

qﬁw@mﬁr@?&mﬁu@ﬁ?wﬁ?

(A) g (B) gp
(©) e (D) gEedfcr
qd 7 P

(A) T8 (B) &sUE
(€) qm=r (D) Fent

Question Id : 52

grerfie ol & | 82
(A) Te, e, Hen (B) e, die, et
(© =t Y, Fem (0) @, &1, A

Question d : 53

fpe aeg @ B ¥ W@ T8 Rl AR WK
& Ao &9 el 87
(A) fSie

(€©) PR

(B) 3ms™
(D) &ArEr
Question Id : 54

R A @ &9 | B 8

(A) et (B) aq-at
(©) Tl (D) Rebew

a5 g e g e T s TW 9
ST S ©

(A) B SRS
(B) Hh SISIAATSS
(© wgew Jifeargs (D) Wf$TH fTES

Question Id : 56
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57.

58.

59.

60.

The energy value of food is measured in
(A) Joule (B) Calories

(€) Tesla (D) Proteins

Question Id : 57

Acid rain is mainly caused by emissions of
_in the atmosphere.

-(A) Sulfur dioxide and Potassium nitrate
(B) Sulfur and Charcoal
(C) Nitrogen oxide and Potassium nitrate

(D) Sulfur dioxide and Nitrogen oxide

Question Id : 58

The first chemical explosive, Gunpowder, is a
mixture of

(A) Sulfur, Charcoal and Nitrogen Oxide
(B) Sulfur, Charcoal and Potassium Nitrate
(€) Sulfur and Charcoal

(D) Charcoal and Potassium Nitrate

Question Id : 59

Battery was invented by
(A) Volta

(C) Fermi

(B) Hero

(D) Maiman

Question Id : 60

57 Ao & ol ged B [ WA S &2

Question Id : 57

(A) o7t (8) He
Q) <= (D) g
56. o Al R WU @ AT H

IS & PR Bl © |

D

(A) Fowr ergeiaags 3R urelrH qIgec

(B) B AR HISHIT

(€) reio sifedTss ok deRmm AT

(0 wepy SrEdEEES SR EKSH
JAFATSS
s9. UEGT  XTTAMe  fawpIed,  9T9S, IGa3ERl
fRysror 22
A  @owx, @oRger AR AEge
S ICRSIEES]

(B) o, FrodEen AR SR MEE
(€) |ewR AR FHTSHIIA
(D) FroE AR UrREw AEgee

Question Id : 59

60. Je F Wl fFaT B2
(A) greeT (B) &R

(€) wH (D) =

Question Id : 60
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61.

62.

63.

64.

B5.

66.

(A) A

ENGLISH LANGUAGE

Choose one option that expresses the meaning
of the sentence.

One who talks too much ?

(A) Quite (B) Garrulous

(C) Pregnable (D) lllogical

Question Id : 61

Choose one option that expresses the meaning
of the sentence.

A hater of learning and knowledge.

(A) Samaritan (B) Misologist

(€) Mascochist (D) Misogynist

Question Id : 62

Choose one option that expresses the most
appropriate meaning for the Idiom out of four
options.

By leaps and bounds ?
(A) very fast

(€) in details

(B) very slow

(D) Aimlessly

Question Id : 63

Choose one option that expresses the most
appropriate meaning for the Idiom out of four
options.

In cold blood?

(A) in full operation

(C) deliberately

(B) Unintentionally
(D) Aimlessly

Question Id : 64

Choose the most appropriate preposition out of
four options.

He congratulated you
(A) in

(C) of

your promotion.
(B) on
(D) for

Question Id : 65

For blank space, choose the proper article:
____Sahara is the world’s biggest desert.

(B) The

(C) No article (D) An

Question Id : 66

67.

68.

69.

70.

For blank space, choose the proper article:

| spoke with Chinese film director
that | told you about.
(A) a (B) the
(€) no article (D) an

Question Id : 67
Choose the option that expresses the
meaning of the given word.
EFFICACY
(A) Effectiveness (B) Hostility

() Frontside (D) Careless

Question Id : 68
Fill in the blank with suitable option.
Now-a-days ____attacks are common in
the politics, and people do not bother to tell lie.
(A) skilled (B) voracious

(C) slanderous (D) biased

Question Id : 69
Choose the option that is opposite in meaning
to the given word.

FECKLESS
(A) Weak (B) Careful
(C) Careless (D) Unlucky

Question Id : 70
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Al

72

73.

74.

76.

7.

78.

fa=<l

el @ g W Ed Sl We g b A
B AT b IRE &7
(A) el B 8) 7 A

© i g3 (D) WE B |

Question Id: 71

quﬁdmlﬂ'a‘“i\mwu‘a'aﬁaaﬂ?fﬁ'ﬁw
THR 82
(A) yrg areg (B) Y =g
(©) &g dred
(D) g ared 3R HH ared Ml
frr § @ SNfel I TE ©
(A) IR (B) IR
© =<t (D) =fe=
& fFY U SUBRT B OAEET & A &
foe e I ®
(A) Pt (B) Haet
(€ IUFHRY (D) RUHR
75. aifer-arel @1 GHedl frded
(A) FE-gex (B) HeTaRat-!
(€ YRI-§a} (D) HeRT-aE
Ew § PF A ST o T 2
(A) g (8) g
(€) a1 (D) &
e weg § B AT YT TN 87
(A) § (B) a1
© 3 D) =18
o 4 9 B @ ad FE g2
(A) gRSE (B) TR
(€) grRfeaR (D) FTERSIAR]

Question Id : 78

79. @pTAST ¥EE B UGTIATEl ®
(A) TSI, TTRITER, UHad
(B) e, SIEe, g2
(€) Hew, ded, ferafd
(D) FeRTS, ¥, g

Question Id : 79
8. g2 T A UE ¥
(A) T (B) ardh
€ T&I& (D) d®Hd
Question Id : 80
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81.

82.

84.

85.

86.

87.

How many administrative divisions are there in
Haryana ?

(A) 4 (B) 5

(€ 7 (D) 6

Question Id : 81
Todar mal was associated with
(A) Music (B) Literature

(€) Music & Literature both
(D) Land Revenue reforms

Question Id : 82

. The Haryana Govt. decided to constitute village

level committees under the chairmanship of
for construction and maintenance of cow
homes. :

(A) Collector (8) TDO

(D) None of these

Question Id : 83

(C) Sarpanchs

In Haryana, King Janmejay was associated with
the town
(A) Jind

(€) Jagadhari

(B) Jhajjar
(D) Safidon
Question Id : 84

Haryana Day is observed in which month of the
calender year ?

(A) December (B) November

(C) January (D) March

Question Id : 85

Which of the following is correctly matched
regarding state of Haryana ?
(A) Panipat - Thermal Power station

(B) Hisar - Hydel Power Station
(€) Jind - Thermal Power Station

(D) Kaithal - Nuclear Power Plant

Question Id : 86
Haryana Vikas Party was founded by
(A) Devi Lal (8) Manohar Lal

(€) Bansi Lal (D) None of these

Question Id : 87

81.

82.

83.

84.

85.

86.

87.

o & o fea garaE Hed g9

(A) 4 (B) 5

@ 7 D) 6

3T A 9IS BY 9

(A) g o (8) @i &

(© g den wifeed aF

(D) yfHy o GER

RO WHR A @ egeR A Al
semely % i g vEwEE ¢ o I
R R aRfrEl e e Fok fen el

(A) Pofdex (B) <1.EV.3M

(€ wxd™ (D) g7 & P el

Question Id : 83

Ramn § <o SRS @1 Edy fed TR

q Y9
(A) g (B) ToOR
() Srmerd (D) wwiel

Question Id : 84

Soex o & frw A # eRgon T

T ST 82
(A) iéQ:I.EN' (B) wdgv
(C) S (D) @[T

=R v & de # A H W B A
qEl gAferd 87

(A) g - ode TTaR ) e

(B) RER - TgSH IR I

(€ <fE - et UreR A

(D) dyyet - IR AR Wic

=Ry e arel @) g @l &
(A) edrera (B) HTERETA

(€) Fderet (D) g7 & BIg el

Question Id : 87
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88.

89.

90.

9.

92.

93.

Vijender Singh : Boxing : : Geeta Jutshi :
(A) Gymnastic (B) Athletics
(€) Badminton (D) Tennis

Question Id : 88
Which one of the following does not belongs to
Haryana ?
(A) Neki Ram Sharma

(€) Kalpana Chawla

(B) Kapil Sharma

(D) Bhagwat Dayal Sharma

Question Id : 89
Which of following is not correctly matched ?
(A) Kurukshetra - Brahm Sarovar

(B) Kaithal - Navgraha Kunda
(€) Rohtak - Tilyar Lake
(D) Karnal - Hathni Kund

Question Id : 90

Pilgrimage place of Haryana, Panchvati, located
in

(A) Palwal (B) Hodal
(C) Hathin (D) Kurukshetra
Question Id: 91
Match the following :
(Temples)
|.  Birla Temple

[1.  Agroha Dham
1. Rudhmal Temple
(Year of Construction)

a. 1892
b. 1952
c. 1976-1984

(A) 1-b, ll-c, IlI-a
(€) I-c, ll-a, llI-b

(B) I-a, lI-b, Ill-c
(D) I-b, ll-a, lll-c
Question Id : 92

Chisti sect was established in Haryana by Shaikh
Farid. Another name of him is
(A) Baba Shah Khan (B) Sheikh Junaid

(€) Farid-ud-din-Shakarganj

(D) Hazarat Shah Kalmuddin

Hussain

Hamzapeer

Question Id : 93

88.

89.

90.

o1.

92.

93.

frorer Riw : difergw @ e I 2 (2)
(A e (8) wemifedd
(© Fsfie (D) 2o

ﬁwﬁﬁ?ﬁﬂwgﬁawn@mﬁﬂﬁ%?
(A) <Y T It (B) wfirer vt

() THou=T TTdel (D) wWrgd garel I

Question Id : 89

e & 4 P a9 gafera T8 22
(A) poga - T8 WX

(B) et - FIE FUE
(©) JgdH - Rre@R o
(D) FHEA - TAN HUS

Questionld:90

=R &1 afie e daadl R '
(A) goiger | (B) Bredt H
(© zrfom # (D) Hoera |
o @1 fyer BT
Hfaw

. foeen #fer
II. W g™
I1I. TsHTel AfeR

frefor &1 9
3. 1882
bh. 1952
c. 1976-1984

(B) I-a, IIb, IIc
(D) I-b, Il-a, IlI-c

gRamor # et dy @ WO e BRIS
ERT B TS N | T 39 AW @ A I S #@
(A) grer 3 @E (B) ¥ e

(©) BRI ATHRIS

(D) E9RA IE HeMgald SIR g

Question Id : 93

(A) 1-b, II-c, III-a
(€) I-c, II-a, III-b
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94.

95.

96.

97.

96.

99.

100.

All belongs to theatre of Haryana, except
(A) Ujjwal Singh (B) Bastiram

(€) Dhanpat Singh (D) J.S. Tohanvi

Question Id : 94
Which of the following is wrongly matched ?
(A) Joginder Singh-Educationist & Literator

(B) Geminy-Poet
(€) Dr. Ranjit Singh -Singer & Reader
(D) Uday Bhanu Hans-Urdu Poet

Question Id : 95

Official language of Haryana is
(A) English (B) Urdu
(C) Hindi (D) None of these

Question Id : 96

Haryana Institute of civil aviation was conceived
on
(A) April 2, 1999

(C) April 1,1998

(B) April 1, 1999
(D) April 3, 1999
Question Id : 97

In Haryana Government, Department of

Parliamentary Affairs is allotted to
(A) Ram Bilas Sharma

(B) Captain Abhimanyu Singh

(€) Om Prakash Dhankar

(D) Manohar Lal Khattar

Question Id : 98

Haryana shares boundary with
(A) Madhya Pradesh  (B) Himachal Pradesh

(€) Jammu & Kashmir (D) Tamil Nadu

Question Id : 99
Central Govt. approves how much grant for plan
under Horticulture mission for the state
Haryana ?
(A) ¥ 109.29 crore

(€) ¥ 119.39 crore

(B) ¥ 110.29 crore
(D) ¥ 99.29 crore

Question Id : 100

94,

95.

96.

97.

98.

99,

100.

T R & Aegdd ¥ et 8 e
A Fooaet e (B) gwARTH

(©) g i (D) g, Qe
Pt 4 % B wE W
(A) Sirfrer R - Rigoifag dor |fear
(B) SIfEF - Bfd

(€ <f. oelia R - TS U1 de®

(D) ITT WY & - Bg

Question Id : 95

eRaon @ IrSTBT WIET B
(A) SFgrof (B) I

© fFH (D) 39 q HIg Tl

Question Id : 96

R ARe IseTT AR Yo AT Al
(A) 30T 2, 1999 (B) T 1, 1999

(©) 31 1, 1998 (D) 31T 3, 1999

Question Id : 97

=R ARER F A9 AWa B fauE
digr T ¥

(A) vfyem el @l

(B) o sy fiE @

(€ 3l YTy TAFS DI

(D) HIER ot WeeR Bl

Question Id : 98

=R & G e W AT 8 2
(A) 77 vawr (8) faorac waw

(€ oy vd weR (D) Gffrerrg

¥ GYHR A M uRAeE $ ST
=RIT TRGR BT fa R AT

fopa 87
(A) T 10929 @s  (B) T 11029 TS
(D) T 99.29 PRIS

(€ T 119.39 BRI
Question Id : 100
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5 WRS-IT F g w4 uger Foar Bt w ug
yrafial & v {ow @y

10.

1.

12.

13.

14.

15.

16.

17.
18.

20.

YAF WA F g B AR TRF A F v ARG 3 g wo@ 2 ¢

IR &7 ¥ Uge AT ST o B gfeasr #F Fo (1-16) 955 HR TF OMR 3R waE A wioS arer § | 3eafia S aaw & S §
o qger e fee & 3feT gRAREd FT o B 3o gReas 3R OMR 3eaw oad & Wt 75 3ed) ole o gu ¥ AR g8 TR off g |
| 8 age ¥ | R ol yeh b fawerfa are S ox 3wl B aReeid @ eFe geheic 3N OMR 3eal A dqerar dsdT afew | o
URY B & dfg e gearg O Reret W feR Agr R s |

g8 YfEae M OMR Jeok Ud # I HOAT Aol e foreeln o ol |

RA-YREATRT HR OMR 3cct Ieh & el i1 gso ol o o oig 3R o A3 |

yeafiat & Fose gosi gdReaT A ¥ e W e @ F diar smr Gl wier 3w wue ) R @ar et ser B for g3 b oo ogw
mﬁﬁmmyﬁaﬂwﬁmmmmﬁv|mmmm§quﬁﬂﬁ-w,m%s@ﬁwm,mm
IRTG-IF, YR FS, THAC 3R H T P v WaT-Fog W 1 3foad § | 7% 7 g ) Il H wie-des A gae H oAt
et & s |

3#gelf OMR 3eat-uad # a1, U 7. IR Fhole . @ A | e Fohole 7. F v RIr amm e @rel ol & & a7 vh & R
gore &, forw Ru v § o Pderser A iR 9 FER Ad R e € At g6 el e § SRT IR Gehele A, AT SO AR SER-a69h
FT Hediwe AG AT AT | gEee o, foree # Rl o R A IR @ g @ o e w9 & aRumHET # spiee & fee seawerh
g | gEwasel s and g & s R ARer-anadl e el gy & IS 1 e 3URU-TEE W, OMR I TdEm WO
srERs wler 7 &9 3R 3T e W ograew o S |

oQeTr-gler & aRdersh T 3ufPufy 7 svafdial o gqeruy W o) TuEt # gEARR F § 3N IS & orme & §

Feaffal #) daraet & Sl B ¥ OMR scat-uss & Rt sft woR &1 Fraraea® foranst o @A AR 7 & @ A¥ | OMR 3@ wE F
@mimmma?mmwmﬁ#mm,mj.m,mmm/ammmm'mmmmﬂsﬁﬂﬁ?
e wed By ¥ | A ver ad § A seR o e w1 R s s sw e ad R sme |

It @ Saret & STl ¥ R 3 warer, Aerge B, R off yeR f o, dee, seeiAe a1 HaR w@ed 49, 97, ofPwe, SteN, AR
iR T g3 e & v e v wWer-dn # A F S0 A A & QY WA, F A e H gHRor ar B o s Fosmeeer
TeoT| 3 aEgat & A fREr o st @ adem-gier A waw A€ fm Sww | adiem-wer & ex R sl & o afe AlNEE i ar
O & g avg e ea@ I RRAT R ¥, url el ¥ @t g9 et @ it sedee wer smeen iR adien A swer snaidar e
X & STl FUr digsy #F o S arelr Wemat F 3ufPud g W o sfdeey oem R Sreen |

fofa wQerm & Hdeor & ulem-Feg o vav & g demell & faRed, CCTV &owr, aAfts a7 @ Ao & foem de sufufa e,
e Wi, Az 3T SER @ g e anfRe § T Awer B e o T AR v el F T R B qEU GUET 7 & TH |
qreTT-Frg # IRade a1 qleT-ie & We & aReda & A6y F fRel off et f ader ) REw A8 R s |

oftdter garT sder-uF a1 sufeafer wae F el & W e gu wiel & e s @ fha smeen | sl 3R sEE wiet & we
IR vgEe F R o R A REER av @ w et B ofer F ww & el @@ & areelr i o sroRifes s & ooty
g

39 OMR Sead-use &1 der gfaal € #er i, 3mavr ofy od st ofy | 3= @arfy 3o @ &Y | OMR 3&X uges & ot gfaet &
et T AT Fell A HL | 39 Gl FATC gl W I THIAR. Ieok-UTF dleil Uferal w1 Hewer R e wer afderss @ dtg &9
ot iy a7 TRUETH GaRT HEWT FNF Fow & & SN | el el @ s| qlien qReds o S @R § |

TRF W F IR dRfove Ieaw U v § e @ Fael wh @ ¥ | 9F RA F 3@l F O OMR 3 usEk # dae I U e H
U AT ST ¥ T T W 3ok @HEId § | Ug AU AT E@RT IS I AT Fae A AT Fol AU F FIA § | ANl HTHTA
& T ofeae FT 9aer A8 HET §

q@erm & vuw 3R Ifew e fee & alver fRe i sl @ g (Slaereraied) # S T AT AL & e |

forelt ot 3rsrell Y OMR IR 99 @Rl Olew 1 At w1dt ¥ | AR FS OMR 3k 9% TRl O 91 o IREAEh I W "HE" H
& YN IHUAT gEATER &Y &I 3R 3@ W At o & |

T Sca<-USdh T S Serrelieie Thiaio] WA & Y U | 3R AT Ielel A W HIH SccR-IAF AT B Tehell § |

FHET HIaRgeh fIaR0T TTUEEE Seak-Uah 7 #RT § | Se-95F & seord H HFAfd 761 ¢ |

atew ¥ WE aenAEr B G wE A R sv & @@ densiet @ @ | afg 3 s & Hfte et S wer axa § A 3ae Ser A
I HIAT STCeT AR W ek T Hedohad g gl |

CORRECT METHOD ; 71 &t WRONG METHODS /e il

®e00 PFOO OROO OO0 GEOG
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